SOL MINI QUIZ ALGEBRA
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	The Reel Good Cinema is conducting a mathematical study. In its theater, there are 200 seats. Adult tickets cost $12.50 and child tickets cost $6.25. The cinema sold $1500 worth of tickets. Write a system of equations to solve for the number of adult tickets (A) and the number of child tickets (C). 

____________+___________=200




___________+____________=1500

SOLVE:







	Number of child tickets:


Number of adult tickets:
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The zeros of the function f{x) = 212 — 4x — 6 are
(1) 3and ~1 (3) ~3and 1
(2) and 1 (4) ~3and -1




image5.png
When factored completely, x® — 13x — 30x is
(1) x(x +3)(x = 10) (3) x(x + 2)(x = 15)
(@) x(x = 3)(x - 10) () x(x = 2)(x +15)
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The graph below was created by an employee at a gas station.
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Which statement can be justified by using the graph?

(1) If 10 gallons of gas was purchased. $35 was paid.

(2) For every gallon of gas purchased, $3.75 was paid.

(3) For every 2 gallons of gas purchased, $5.00 was paid.

(4) If zero gallons of gas were purchased, zero miles were driven.
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Which inequality is represented by the graph below?
y

(1) y=20-3 (@) ys-3r+2
(2) y=20-3 ) y=-3r+2
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Michael borrows money from his uncle, who is charging him simple
interest using the formula I = Pr. To figure out what the interest

rate, ., is, Michael rearranges the formula to find r. His new formula
is requals
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